Unit 7 Learning Objectives Student Generated Answer Key

Chapter 23 Question #1 
Describe the political corruption of the Grant administration and the mostly unsuccessful efforts to reform politics in the Gilded Age.

A lot of corruption occurred due to the seeking of Grant’s favor. Grant had a very easy going attitude. This attitude however would ultimately lead to his downfall. A credit scandal occurred with the Union Pacific Railroad company. The UPR formed the Union Mobilier Construction Company and then hired themselves at inflated prices to build the new railroad.  This earned them astronomical dividends, as high as 348%. Fearing congress would halt this scandal, they paid off key congressmen with stock in their company. This scandal led to the censure of two congressmen and the revelation that the Vice President had accepted payments from Credit Mobilier.  


The Whiskey Ring also robbed the Treasury of millions in excise-tax revenues. Grant’s private secretary was even found guilty of being involved in such crimes. Grant wrote a private letter to the jury to help pardon his secretary’s crimes. Secretary of War William Belknap was also forced to resign after taking bribes from suppliers to Indian Reservations.


Besides the rampant corruption, Grant failed to use his powers to their fullest extent during the age of Reconstruction. The Force Acts of 1870-71 were passed, banning the use of terror to prevent people from voting based on their race or color. The Force acts were not strong enough to assist blacks, however, because the whites held literacy tests and other scams to prevent them from voting. In 1883, the Pendleton Act was passed which prevented federal employees from being forced to make campaign contributions. It also established the Civil Service Commission who would appoint jobs on who was better qualified rather than “pull.” The Pendleton Act drove politicians to look toward big business for their donations and severed the ties between politicians and the generous offers from their patrons. The many instances corruption that coursed through Grant’s politics also damaged efforts at reconstruction because although he himself was not tarnished in any way, his administration became a political mockery.
Chapter 23 Question #2

Describe the economic crisis of the 1870s and explain the growing conflict between "hard-money" and "soft-money" advocates:

The economic situation of the 1870’s is strongly characterized by the panic of 1873, a terrible economic downturn that led to bankruptcy for more than 15,000 businesses. The major cause was much like what happened in 2008, a normal downturn in the business cycle accompanied by too many bad (risky) loans and specific sectors (factories and railroads) of the economy overexpanding, thus creating oversupply which leads to lower prices and lost wages/jobs.  “Hard times inflicted the worst punishment on debtors, who clamored for inflation”. Soft-money advocates are people who are in debt and would benefit from inflation because it reduces the value of money paid back in the future, and makes borrowing cheaper because it lowers interest rates now.  Hard money advocates won out due to the experience with Civil War currency that had depreciated badly due to its being handled improperly during the war.  Debtors than demanded that the government relieve the burden by issuing more silver coins. Context: In the early 1870’s, the government wrongly attached the value of silver to be 1/16th to an oz of gold. This led silver miners to stop selling their silver to the federal government which led to a shortage within the government which led them to stop coining silver in 1873 – which is known as the “crime of 73”
Chapter 23 Question #3

Explain the intense political partisanship of the Gilded Age, despite the parties’ lack of ideological difference and poor quality of political leadership. 
The political power in government during the Gilded Age lied delicately balanced between the Republican and Democratic parties. Like a political seesaw, the power could be easily switched to the opposition party with even a slight increase in votes. Over the span of about twenty years, from 1869 to 1891, the leading party changed six times. The two parties battled for power, yet their ideological values differed minimally. They saw eye-to-eye in mostly all issues such as those concerning the civil service reform and the currency problem. Still the two competed with each other due to their differences in origin, religious backgrounds, and moral beliefs. The Republican party tended to stress personal morals which should be regulated by the government. This view stemmed from the Republican parties direct lineage and emphasis to the Puritans. The Democrats however, looked to morality with less of a stern view. Therefore the Democratic party opposed the government imposing a single moral standard on the society. Just as the differences between their beliefs, the majority of followers were divided. The Republicans gained their support from the Mid-west and in the small-town Northeast as well as the grand Army of the Republic. The Democrats were bin the industrial cities of the North and South. To gain the upper hand, both parties partook in patronage, the exchange of jobs for votes. In the 1870s fighting within the Republican party took place over patronage. Called the “Stalwart” faction, they supported the exchange. The Half-Breeds, in a direct opposition to the Stalwart” faction and its leader Roscoe Conkling, the U.S. senator from New York, “disagreed with it.” Their real struggle with the Conklingites was the power of the spoils. Conkling and James G. Blaine of Maine, the leader of the Half-Breeds, only succeeded in deadlocking their party.

Chapter 23 #4: Indicate how the disputed Hayes-Tilden election of 1876 lead to the compromise of 1877 and the end of reconstruction?

The Hayes-Tilden election of 1876 was controversial due to the fact that the two presidential nominees, Samuel J. Tilden with 184 electoral votes and Rutherford B. Hayes with 165 electoral votes, were in an election deadlock for the 185 votes needed for election. 


The final decision for which candidate would win the election was to be made by the result of electoral returns, or decision for a candidate, from three of four undecided states (Louisiana, South Carolina, and Florida). The three disputed states, whether predominantly Democratic or not, were ruled by Republicans. Thus, the Republicans of each state tried to “correct” the fallibility of the voting polls by throwing away votes for Tilden in their favor. In reaction, infuriated Democrats sent their own return, resulting in two sets of disputed returns being sent – one Republican and one Democratic. Hence, the dilemma was how could these returns be counted- if counted by the president of a Senate (a Republican), the Republican returns would surely be chosen and if counted by the Speaker of the House (a Democrat), the Democratic returns would surely be chosen. The solution to this was given by Congress, which ordered that the election deadlock was to be broken by the Electoral Count Act, where a fifteen-member electoral commission of ten members from Congress and five Supreme Court justices would count the returns.


In the end, the commission pitted eight Republicans against seven Democrats. This obvious imbalance of Republicans solidified Democratic defeat, and as a result, the Democrats reluctantly avoided conflict and accepted a deal called the Compromise of 1877. In exchange for accepting Republican returns, Republicans agreed to remove federal troops from Louisiana and South Carolina while Democrats were assured a spot at the presidential patronage trough and were to receive support for a bill to subsidize the construction of a southern transcontinental line.


With Hayes now the new president, he established a new "Let 'em Alone" policy, which removed federal troops that had been placed by the previous president to promote Republican regulation of the Reconstruction; thus ending Republican regimes and ending the Reconstruction. The new liberated Southern states were left to undisputedly decide their own fate.



Had the disputed Hayes-Tilden election of 1876 not taken place, the electoral commission would have never been created to resolve the dilemma. Without the electoral commission, the Compromise of 1877 to accept the Republican returns would not have occurred, Hayes would not have become president, and he would not have been in such a position of power to end Reconstruction and to allow the South to resume its old policies.

Chapter 23 #5: Describe how the end of Reconstruction led to the loss of black rights and the imposition of the Jim Crow system of segregation in the South

Reconstruction was focused on rebuilding the country as a nation, and preparing the freed blacks to be integrated into a new type of society. Congressmen promoted the idea and dealt with the people that went against their reconstruction. However, as reconstruction ended, racial conflicts soon pursued since Congress was no longer promoting equal status for the blacks. Therefore, there was nothing to protect the blacks from harassment. The southerners wanted to alienate the blacks and imposed the Jim Crow laws which segregated the white community from the black community. Basically, it made the blacks create a new society separate from the whites. This meant they had to use separate schools, bathrooms, and other public buildings. The laws technically did not violate the constitution since it's just separated facilities, but the blacks facilities were much more inferior to those that belonged to the white southerners. This promoted further racism, and blacks were assaulted and punished severely if they tried to go against their social codes. 
Modified question with teacher  answer Chapter 23 Question #6:  Explain how the great RAILROAD Strike of 1877 led to the rise of class conflict between business and labor and how these events transpired into the origins of the modern labor movement:

The terrible years of economic depression brought on by the panic of 1873 contributed to severe class warfare beginning in 1877 with the great railroad strike.  Serious losses in revenue led all four major railroad companies to cut worker wages by 10%. Workers responded with a strike and worse, assembling themselves at various train junctions to prevent the running of train lines.  In one case, strikers gained control of a yard in Pennsylvania and destroyed over $5 million in railroad property.  Railroad companies appealed to their state governors, who called out their militias, who engaged in gunfire with workers.  As the striking and violence spread, president Hayes got involved, sending in federal troops who became engaged in street battles with workers which ended in over 100 people being killed.

Besides the depression, another cause of this conflict was there were no rules in place yet to help resolve issues that normally exist between labor and management. At this time in history, with capitalism in its infancy and management better able to influence government, government almost always came down on the side of companies dealing with a crisis.  Business leaders learned how to use the government to inflict violence on strikers and the strikes collapsed everywhere.  

Working people learned that without strong unions and nationwide organization they could not defeat the alliance of capital and government. Not all drew the same conclusions from this lesson. For some, the experience justified the development of a conservative business unionism that would not challenge the boss or promote social change. For others, it meant organizing the Knights of Labor and building labor parties that would reorient government.  America’s Industrial Revolution was underway, and with it, born in the blood of men and women who yearned for a better life, a modern labor movement.

Modified question with teacher  answer   Chapter 23 Question #6:  Explain how the economic tensions of the 1870’s led to the growing hostility to immigrants, especially the Chinese:


By 1877, 27% of the working population was unemployed, newspapers reported cases of starvation and suicide.  With no labor movement in place to alleviate their plight, rivalries for scarce jobs among varying immigrant groups exploded – the worse example set in California.  Tens of thousands of Chinese had began pouring into the state to work in gold mines and railroad construction, two sectors that often employed Irish immigrants. Once the gold mines dried up remaining Chinese men with no families to help them assimilate into American society were vulnerable to all types of abuse.  In San Francisco, a group of Irish led by the demagogue Denis Kearney deeply resented the cheap labor the Chinese were willing to furnish and began terrorizing them throughout the city – fearing also that millions more Chinese were destined to immigrate there if something wasn’t done to dissuade them.

In 1882, Congress passed the Chinese Exclusion Act to halt the immigration of the Chinese, attempts were even made to strip native-born Chinese Americans of their citizenship, which the Supreme Court rejected under the 14th amendment, which guarantees citizenship to all people who are born in the U.S. This ruling provided valuable protection to all immigrants in the United States.
Demagogue - a political leader who gains power by appealing to people's emotions, instincts, and prejudices in a way that is considered manipulative and dangerous
Chapter 23 Question #7:  Explain the rise of political conflict in the early 1890s, and the failure of Cleveland to address growing farm and labor discontent:

The Grangers were a political party established in 1867 due to complaints from farmers against railroad companies. They sought the advanced interests of farmers, who felt they were being taken advantage of. These farmers were also discontent with railroad companies that charged them high prices, so they sought to regulate them.  This led to the Populist Party, also known as the People's Party.  They put out a presidential candidate to address all their grievances in the next election.  Although their candidate, James Weaver, was very popular, they failed to win in the 1892 election.  Other occurrences, such as the strikes in Andrew Carnegie's Homestead Steel Plant pushed political conflict further.  Blacks also suffered more in the post-civil war era.  They were unable to vote, as literacy tests and poll taxes were required.  Also, Jim Crow Laws were passed that segregated the Blacks from the Whites.  They were unable to use the same facilities and were denied the same opportunities.  Furthermore, after Grover Cleveland was elected president a second term, the Sherman Silver Purchase Act was passed.  This law was passed to stop the production of gold and to begin the usage of silver coins that would cause inflation and benefit farmers.  It only temporarily stemmed the flow of gold, though, and it was repealed.  Cleveland then approved the Wilson-Gorman Tariff, in response to his dislike of high tariffs.  However, it only made a dent in the existing tariff rates.  In the next election, the Democrats, including Cleveland, were dislodged from the government-in the House of Representatives, the  Republicans dominated with a majority of 244 to 105.
Chapter 23 Group #8:  Explain the origins of the Populist Party and then explain their grievances:

The Populist Party’s sudden rise was influenced by the Farmers’ Alliance movement in 1890. In 1892, delegates from different states met in Omaha, Nebraska to sketch a political platform and nominate candidates for president and vice president for the new party. The party was made up of angry farmers who wanted to eliminate governmental injustices at the time. The Populist Party demanded political and economic reforms within society.

· Politics: 

1. Direct popular election of U.S. senators (at that time they had indirect election by state legislatures)

2. Ratification of state laws by voters through initiatives and referendums written on the ballot sheet.

· Economics:

1. Increase money supply by having unlimited coinage of silver

2. Equalize the amount of tax a person/family has to pay depending on the income

3. Have public railroads be owned by the public because the government couldn’t control its trade and development in other areas 

4. Telegraph and telephone systems owned and operated by the government

5. Loans and federal warehouses for farmers so they can stabilize the prices for crops

6. An 8-hour day for industrial workers

The Populist movement attacked laissez-faire capitalism, while attempting to form a political settlement between poor whites and poor blacks. As the party grew, it ran General James B. Baker in the presidential election of 1892. General Baker gained the support of angered workers who took part in the strike epidemic. Overall, the party gained 1,029,846 popular votes and 22 electoral votes; however, they lost to the intimidation and fear of the Southern Democrats. From that point on, the Populist Party declined after 1896 and soon ceased to be a national party.
